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EQT 
(Expert Qualification TEST)
Social Science and Social Work



We are glad to offer you this EQT to test your subject matter depth and formatting skills before taking you in our freelance expert writing team.  This EQT contains a case study and based on that there are questions, which you need to answer. 

Important Note
· Before attempting EQT solution, you have to download Writing Methodology docket which contains 8 documents numbered as Doc1, Doc2 and so on. 
Link to download this Docket: http://mywritingmaster.in/expert-qualification-test/


· Your EQT solution will Judged based on 
1. Application of Bloom’s taxonomy (Check Doc 3)
2. Plagiarism (Plagiarism (Copy pasting from external sources) is a strict offense in foreign universities. Your EQT solution will undergo Turnitin Software check, which can catch plagiarism not only from internet content, but also from journals or even assignments submitted by students as assignments in their universities) (Check Doc 4)
3. Referencing (Check Doc 1 and Doc 2)
4. Assignment Formatting (Check Doc 6)
5. Depth of subject knowledge
6. English proficiency 

· Your final solution should look like this : (Doc 5)

· Word limit and Deadline for EQT 
1. Word limit: 1000 words
2. Deadline : 72 hours from the date of sharing EQT



Case study
Read carefully the guidelines as well as understand the concept of Bloom’s Taxonomy before attempting to write the solution. When assessing your solution your subject based knowledge, capability to align understanding with the requirement, bloom’s understanding and application in writing would be checked along with grammar and spellings. 
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You are required to address the following questions.
1. Identify two theories that you could use to help you understand what is going in the Cruise family and provide a reason why you selected the theories. Please use one individual focussed and one structural focussed theory.
2. Describe the main argument for each of the theories you have selected.
3. Name  and analyse the 2 principles from each of the theories you have selected under the given context.
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Which Bloom’s category of does each of these questions belong to?



	Assignment Task
	Cognitive Skills Exercised(from Bloom’s)
	Marks Allocation

	a) Question 1
	Application
	15marks

	b) Question 2
	Understanding 
	10marks

	c) Question 3
	Analysis
	15marks



Please distribute the total word count, which is 1000 words, in proportion to the weightage of marks allotted to each of the sub-sections.  Also, use in-text as well as reference list to substantiate your answers. The referencing style suggested is Harvard AGPS and auto referencing is suggested to be used.

The above table shows the level of Blooms that is required to be considered in different sections while writing the solution. Make sure to understand the concept of bloom and how you need to incorporate blooms level of cognitive writing when writing your solution. Feel free to get back to us for any clarification or understanding.

Your solution won’t be marked and accepted for candidature if you fail to incorporate the cognitive writing abilities, as per bloom, in your solution.

---------All the best---------
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Assessment Details
Please read the following case study:

Jill and Bob Cruise live with their 3 children Anthony (15 years), Andrew (13 years) and Lisa
(8 years). They live in a public housing rental property in a low socio-economic suburb in
major city. Jil is currently on  disability pension for issues related to anxiety and panic
attacks. Bob receives a carer’s pension to support Jil. He also manages to do some ‘cash in
hand’jobs as a plumber. He is currently unemployed. Recently, Anthony has been involved
in vandalism and has received a community service order recently due to this offending.
However, he has not been attending his community service regularly. Both Jill and Bob are
concered about him because he has not been attending school either. They are concemed
that Andlrew is following in Anthony’s footsteps. Andrew idolises Anthony and on occasion
has not attended school either because he has been with Andrew. Both Anthony and
Andrew have been verbally abusive to Jil and Bob and tell them to ‘piss off as they are
“hopeless’ and don't mount to anything anyway'. Jill and Bob say that Lisa is a ‘hand full
because she is so demanding. She yels, cries a lot, and is always seeking their attention.
They feel guilty about this. Bob says to you in your first meeing that they can't get ‘too well’
otherwise their money will be taken from them and this scares him. He also said that
Anthony mentioned to him a while ago during a ‘yelling match’ that he knows nothing,
especially about his own brother, Uncle John. This comment has scared Bob. John is at their
home a lot and spends time with Anthony and Andrew alone. He doesn't know how to talk to
Anthony about this. Jill and Bob argue frequently about Uncle John as Jil says she is afraid
of him and doesn't trust him with the kids.
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The Analysis can be written in the first person because you are presenting a reflection on
how theory has informed your thinking or interpretation's. However, because this work is
drawing on social work theoretical knowledge it needs to be referenced. This is an academic
piece of work and so itis important to access and use the social work literature that has
been recommended in this Topic and beyond, such as social work journals. Please
reference any works that inform your thinking. A minimum of five academic references is
expected (social work theory books and journal articles).




